ANSWERS TO: Zeb’s Quiz 02

WHO HAS WHAT?
1. Opener has 5:4 at least and 12-18 points; Responder has 6
+ pts and 4+ spades.

2. Opener has 4+ clubs & 17-18 points; Responder has 6+
pts and 4+ hearts.

3. Opener has 4+ spades and 3+ hearts and a better than
minimum hand; Responder has 10 (ish)+ pts and 5+ hearts.
4. Opener has 6+ spades and 16-18 pts; Responder has 6-9
pts, without spade support.

5. Opener has 23/24 pts, balanced; Responder has 0-7 pts.

BIDDING
Hand 1 is correct.

Hand 2 would have opened 1D but then supported spades to
3S (or even 4S - "6:4: bid some more")

Hand 3 would have opened 1D but then bid 2D (or perhaps
a cheeky 2H)

LEADING
A. DQ
B. DA

C. S2





